@park Math

Back to School Worksheet
Lower Elementary

.
Scan for your FREE trial class.

Color the triangle with the greatest number. l

OVAVAYA

Count to 50. Fill in the missing numbers.

1 2 5 6 7 8 10
12 | 13 | 14 16 | 17 | 18 | 19 | 20
21 | 22 | 23 | 24 26 | 27 29
31 33 | 34 | 35 37 | 38 | 39 | 40
41 | 42 | 43 | 44 46 48 | 49

Fillin 1%, 2™, 3™, 4", and 5" below each candle.
The order should start with the candle that will
burn out the fastest.

There are 10 calculators. 4 calculators are red.

Gualy 1

There are yellow calculators

How many ’ are there?
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Back to School Worksheet
Lower Elementary

Scan for your FREE trial class.

Look at the picture below. Pencil B is in shorter than Pencil A.
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Raja saved $2,346 last year. His wife saved $300 more. How much did they save together?

A and B have the same mass. What is the mass of B?

980

Which of the following is not the equivalent fraction of % ?
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